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A. General :

1. This Question Paper contains 75 questions. Please check before

starting to attempt. The question paper consists of 4 parts (Physics,

Chemistry, Biology & Mental Ability).
2. Space is provided within question paper for rough work hence no

additional sheets will be provided.
3. Blank paper, clipboard, log tables, slide rules, calculators, cellular

phones, pagers and electronic gadgets in any form are not allowed
inside the examinaiton hall.

4. The answer sheet, a machine-gradable Objective Response
Sheet (ORS), is provided separately.

5. Do not Tamper / mutilate the ORS or this booklet.
6. Do not break the seals of the question-paper booklet before

instructed to do so by the invigilators.
7. SUBMIT the ORS to the invigilator after completing the test &

take away the test paper with you.
8. Any student found/reported using unfair means to improve

his/her performance in the test, shall be disqualified from STaRT-
2013.

B. How to fill Objective Response Sheet (ORS) for filling details
marking answers:

9. Use only HB Pencil/Blue or Black ball point pen for filling the ORS.
Do not use Gel/Ink/Felt pen as it might smudge the ORS.

10. Write your STaRT-2013 Student Registration No. in the boxes given
at the top left corner of your ORS with blue/black ball point pen.
Also, darken the corresponding bubbles with HB Pencil/Blue or
Black ball point pen only.

11. If  any student does not fill his/her STaRT-2013 Student Registration
No. correctly and properly, then his/her ORS will not be checked/
evaluated.

12. Since it is not possible to erase and correct pen filled bubble, you
are advised to be extremely careful while darken the bubble
corresponding to your answer.

13. Neither try to erase / rub / scratch the option nor make the Cross
(X) mark on the option once filled. Do not scribble, smudge, cut,
tear, or wrinkle the ORS. Do not put any stray marks or whitener
anywhere on the ORS.

14. If there is any discrepancy between the written data and the
bubbled data in your ORS, the bubbled data will be taken as final.

C. Question paper format and Marking scheme :
15. For each right answer you will be awarded 4 marks if you

darken the bubble corresponding to the correct answer and zero
marks if no bubble is darkened. In case of bubbling of incorrect
answer, minus one (�1) mark will be awarded.

v- lkekU; %

1- bl iz'u&i= esa 75 iz'u gSaA Ñi;k ijh{kk 'kq: djus ls igys tk¡p

ysaA bl iz'u&i=k esa 4 Hkkx bl izdkj gSa & HkkSfrd foKku] jlk;u

foKku] tho foKku ,oa ekufld ;ksX;rk

2- jQ dk;Z djus ds fy, iz'u&i= esa gh LFkku fn;k x;k gS vr% vfrfjDr :i

ls dksbZ 'khV ;k isij ugha fn;k tk,xkA

3- [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] LykbM :y] dsYdqysVj] lsy Qksu]

istj ,oa fdlh Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA

4- mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu }kjk

tk¡ph tk,xh] vyx ls iznku dh xbZ gSA

5- vks-vkj-,l- ;k iz'u&i= dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA

6- iz'u&i= dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk funsZ'k ugha

fn, tk,saA

7- ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk iz'u&i=

vius lkFk ys tk,saA

8- ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk iz;ksx

djrk ik;k x;k ;k ,slk lwfpr fd;k x;k rks og STaRT-2013 ds fy,

v;ksX; gksxkA

c- vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr

djus ds fy, fuEu izdkj Hkjsa %

9- vks-vkj-,l- Hkjus ds fy, dsoy HB isafly@uhyk ;k dkyk ckWy isu gh

iz;ksx djsaA tsy@L;kgh@QsYV isu iz;ksx ugha djsaA

10- viuk STaRT-2013 fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds ck;sa

dksus esa fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh Øekad ds

vuqlkj uhps fn, x;s xksyksa dks Hkh HB isafly@uhys ;k dkys ckWy isu ls

xgjk djsaA

11- ;fn dksbZ fo|kFkhZ viuk STaRT-2013 fo|kFkhZ jftLVªs'ku Øekad lgh ,oa

Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks pSd@ewY;kafdr ugha

fd;k tk,xkA

12- vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk fd;k tkrk

gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh lrdZrk ls gh xksyksa dks

xgjk djsaA

13- ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k [kqjpus dk

iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds /kCcs] xUnxh ;k

flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA

14- ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj ik;k x;k

rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA

l- iz'u&i= izk:i ,oa vad iznku fu;e %

15- izR;sd mÙkj ds fy, 4 vad fn, tk,xsa ;fn lgh xksys dks xgjk fd;k x;kA

;fn xyr xksys dks xgjk fd;k x;k rks ¼&1½ vad dkVk tk,xkA ;fn fdlh

xksys dks Hkh xgjk ugha fd;k x;k rks 'kwU; vad fn;k tk,xkA





RESONANCE STaRT2013 XI 130113 - 3

(SPACE  FOR  ROUGH  WORK)

(SPACE  FOR  ROUGH  WORK)

PART-I (PHYSICS)

Straight Objective Type

This section contains (1-20) questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of
which ONLY ONE is correct.

1. A stone  is released at rest  from a height of 45 m above the horizontal level ground. There is horizontal wind
blowing due to which stone acquires an additional (in addition to acceleration due to gravity) horizontal
acceleration of magnitude 10 m/s2 . Then the net distance travelled by stone before reaching ground is: ( Take
g = 10m/s2 and neglect air resistance)
,d iRFkj dks {kSfrt /kjkry ls 45 ehVj dh Å ¡pkbZ ls fojkekoLFkk ls NksM+k tkrk gSA {kSfrt fn'kk esa py jgh gok ds dkj.k iRFkj
10 m/s2 ifjek.k dk vfrfjDr {kSfrt Roj.k ¼xq:Roh; Roj.k ds vfrfjDr½ izkIr dj ysrk gSA rc /kjkry ij igq¡pus ls igys iRFkj
}kjk r; dqy nwjh gksxhA  (g = 10m/s2 rFkk ok;q izfrjks/k ux.; ekusa)

(A)  45 m. (B) 245 m

(C) 345  m (D) cannot be determined ¼fu.kZ; ugh dj ldrsA½

2. In the figure if blocks A and B move with same horizontal acceleration due to external force
applied on B , there is no friction between A and B and A does not slip on B then, the
magnitude of interaction force between the two blocks will be ()  :
fp=k esa ;fn CykWd A rFkk B dksbZ cká  cy B ij yxkus ds dkj.k ,d leku {kSfrt Roj.k ls xfr djsa rFkk
A rFkk B ds e/; dksbZ ?k"kZ.k cy ugha gks rks nksuksa CykWdks ds e/; vfHkyEc çfrfØ;k cy dk eku D;k gksxkA

(A) 2 mg/cos  (B) 2 mg cos  (C) mg cos  (D) none of these  buesa ls dksbZ ugha

3. Mass m shown in figure is in equilibrium. If it is displaced further by x and released find its
acceleration just after it is released. Take pulleys to be light & smooth and strings light.
fp=k esa fn[kk, vuqlkj nzO;eku m lkE;koLFkk esa gSA vxj bls x nwjh rd vksj [khapk tkrk gS vkSj fQj
NksM+ fn;k t krk gS rks NksM+us d s Bhd  ckn bldk Roj.k D;k gksxk\ iqyh rFkk jLlh gYd h gS vkSj iqyh
fpd uh gSA

(A) 
m5
kx4

(B) 
m5
kx2

(C) 
m
kx4

(D) none of these ¼buesa ls d ksbZ ugha½

4. Force acting on a particle moving in a straight line varies with the velocity v of the particle as

F = 
v
K

, where K is a constant. The work done by this force in time t is

ljy js[kk esa xfr dj jgs d.k ij dk;Zjr cy  blds osx ds lkFk F = 
v
K

 ds vuqlkj ifjofrZr gksrk gSA tgkW K ,d fu;rkad gSA

t le; esa bl cy }kjk fd;k x;k dk;Z gksxkA

(A) 
2v

K  t (B) 2Kt (C) Kt (D) 2v

Kt2
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5. A uniform rod of mass m and length L is hinged at one of its end A and a force F is applied at a
distance x from A. The acceleration of centre of mass 'a' at the instant shown varies with x as :
,d leku nzO;eku m rFkk L yEckbZ dh ,d NM+ dks blds ,d fljs ij fdyfdr (hinged) fd;k x;k gS
rFkk A ls x nwjh ij cy F  vkjksfir fd;k tkrk gSA bl le; nzO;eku dsUnz ds Roj.k 'a' dk x ds lkFk
ifjorZu dk xzkQ gksxk :

(A) (B) (C) (D) 

6. A rod of mass m is supported by string AB and friction due to wall. Then friction force on
rod due to wall is : (g = acceleration due to gravity).
m nzO;eku dh ,d NM+ jLlh AB rFkk nhokj ds e/; ?k"kZ.k }kjk yVdh gqbZ gSA rc nhokj ds dkj.k
NM+ ij ?k"kZ.k cy gS& (g = xq:Ro ds dkj.k Roj.k)

(A) mg upward (B) mg downward (C) 
2

mg
upward (D) Data insufficient

(A) mg Å ij dh vksj (B) mg uhps dh vksj (C) 
2

mg
Å ij dh vksj (D) vk¡dM+s  vi;kZIr gS

7. In the figure shown the system is at rest initially. Two persons 'A' and 'B' of masses 40 kg each move with
speeds v1 and v2 respectively towards each other on a plank lying on a smooth horizontal surface as shown
in figure. Plank travels a distance of 20 m towards right direction in 5 sec. (Here v1 and v2 are given with
respect to the plank). Then :
fp=k esa fn[kk;s vuqlkj fudk; izkjEHk esa fLFkj voLFkk esa gSA fp=kkuqlkj fpduh lrg ij j[ks r[rs ij nks 40 fdxzk- nzO;eku ds O;fä
'A' rFkk 'B' ,d nwljs dh rjQ pky v1 rFkk v2 ls pyrs gSaA r[rk 5 ls- esa nk;ha rjQ 20 eh- pyrk gS (;gk¡ v1 rFkk v2 r[rs ds
lkis{k esa nh xbZ gSa) rc &

(i) v1 = 10 m/s,  v2 = 0 m/s (ii) v1 = 15 m/s,  v2 = 5 m/s
(iii) v1 = 20 m/s,  v2 = 10 m/s
(A) only (i) and (iii) are possible (B) All (i), (ii) and (iii) are not possible
(C) only (ii) and (iii) are possible (D) All (i), (ii) and (iii) are possible
(A) dsoy (i) rFkk (iii) lEHko gS (B) lHkh (i), (ii) rFkk (iii) lEHko ugha gS
(C) dsoy (ii) rFkk (iii) lEHko gS (D) lHkh (i), (ii) rFkk (iii) lEHko gS
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8. A rod of length  stands on its one end on a horizontal smooth table. Now air is blown gently for a
moment so that rod starts falling. At what distance the end A of the rod will strike the table from
point O.
 yEckbZ dh ,d NM+ ?k"kZ.kjfgr {kSfrt Vscy ij blds ,d fljs ij [kM+h gqbZ gSA vc ,d {k.k ds fy, gok /khjs ls cgrh
gS] ftlls NM+ fxjuk izkjEHk dj nsrh gSA NM+ dk fljk A Vscy ij fcUnq O ls fdruh nwjh ij Vdjk;sxkA

(A) /3 (B) O (C)  (D) /2

9. An ideal gas is taken from state 1 to state 2 through optional path A, B C & D as
shown in the PV diagram. Let Q, W & U represent the heat supplied, work done and
change in internal energy of the gas respectively. Then ,

,d vkn'kZ xSal n'kkZ;s x;s PV vkjs[k ds vuqlkj ,fPNd iFkksa A, B, C o D ls gksdj voLFkk -1 ls
voLFkk -2 rd ys tkbZ tkrh gSA ekuk Q, W o U Øe'k% xSal dks nh x;h Å "ek] xSl }kjk fd;k dk;Z
o xSal dh vkUrfjd Å tkZ esa ifjorZu gS rc&

(A) QA  QD = WA  WD (B) QB  WB > QC  WC
(C) WA  WB < WC  WD (D) QA  QB < QC  QD

10. A particle is projected from a horizontal floor with speed 10 m/s at an angle 30º with the floor and striking the

floor after sometime. State which is correct.
,d oLrq dks {kSfrt lrg ls 10 m/s dh pky ls {kSfrt ls 30º dh fn'kk esa QSadk tkrk gS rks ;g dqN le; ckn lrg ls Vdjkrh
gS rks dkSulk dFku lR; gSa
(A) Velocity of particle will be perpendicular to initial direction two seconds after projection.

iz{ksi.k ds nks lSd.M ds i'pkr~ oLrq dk osx mldh izkjfEHkd fn'kk ds yEcor~ gksxkA
(B) Minimum speed of particle will be 5 m/sec.

oLrq dh U;wure pky 5 m/sec gksxkA
(C) Displacement of particle after half second will be 35/4 m.

vk/ks lSd.M (½ sec.) ds ckn oLrq dk foLFkkiu 35/4 m gksxkA

(D) Minimum speed of the particle is 35  m/s

oLrq dh U;wure pky 35  m/s gksxkA

11. A gun is pointed towards a 100 m high target as shown in figure. Target is released at
the same time when the gun is shot. To hit the target in air, muzzle speed should not
less than (g = 9.8 m/s2)
,d cUnwd fp=k esa çnf'kZr ,d 100 m Å¡ps y{; dh vksj funsZf'kr gSA fdlh le; y{; dks NksM+k tkrk gSA
Bhd mlh le; cUnwd ls xksyh nkxh tkrh gSA y{; dks ok;q esa Hksnus ds fy, xksys ds iz{ksi.k dk uky osx
(muzzle speed) fdlls de ugha gksuk pkfg,A (g = 9.8 m/s2)

100 m

100 m

gun

Target

(A) 7 2  m/s (B) 14 5  m/s

(C) 10 m/s (D) 10 10  m/s

(SPACE  FOR  ROUGH  WORK)
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12. A uniform rod of mass 10 kg and length 1m is being taken vertically up with an acceleration of
1m/s2 find tension in rod at 70 cm from upper end. (Take g = 10 m/s2)
10 kg nzO;eku o 1m yEckbZ d h ,d leku NM+ dks 1m/s2 ds Roj.k ls m/okZ/kj Å ij d h vksj ys t k;k
t krk gSA Å ijh fljs ls 70 cm nqjh ij NM+ esa ruko Kkr d jksA (g = 10 m/s2)

(A) 3 N (B) 30 N (C) 110 N (D) 33 N

13. A block is about to slide down an inclined plane when its inclination to the horizontal is  If now a 5kg weight
is attached on the block,
,d CykWd urry ij uhps dh vksj fQlyrk gS] tc urry dk {kSfrt >qdko gSA vc ;fn 5kg dk ,d CykWd bl CykWd ij tksM+ fn;k
tk;s rc
(A) it is still about to slide down the plane.
;g vHkh Hkh urry ij uhps dh vksj fQlysxkA
(B) it will not slide down the plane unless the inclination is increased.
;g urry ij uhps dh vksj rc rd ugha fQlysxk tc rd urry dk >qdko c<+ ugha tkrkA
(C) it will not slide down the plane unless the inclination is decreased.
;g urry ij uhps dh vksj rc rd ugha fQlysxk tc rd urry dk >qdko ?kVus ugha tkrkA
(D) it will never slide down whatever be the inclination.
;g urry ij uhps dh vksj dHkh ugha fQlysxkA pkgs >qdko c<+s ;k ?kVsA

14. A cylinder rolls without slipping over a horizontal plane. The radius of the cylinder is equal to 10cm. The curvature

radius of trajectory traced out by the point A  in figure shown, is :

,d csyu {kSfrt ry ij fcuk fQlys yq<+drk gSA csyu dh f=kT;k 10 cm ds cjkcj gSA fp=k esa iznf'kZr fcUnq A  }kjk r; fd;s x;s

iFk dh oØrk f=kT;k gS :

C B

A

(A) 40 cm (B)  34 cm (C) 20cm (D) 17cm

15. A rod is allowed to fall freely under the influence of gravitational force. The rod remains vertical. An
insect moves up the rod such that its velocity upwards relative to ground is constant. The acceleration
of the rod is :
,d NM+ d ks xq:Ro d s izHkko esa fxjus d s fy;s NksM+rs gSA NM+ m/okZ/kj jgrh gSA bl ij ,d  dhM+k bl rjg ls pyrk
gS fd  /kjkry d s lkis{k bld k Å ij d h vksj osx fu;r jgrk gSA NM+ d k Roj.k gSA                                         
(A) = g
(B) < g
(C) > g
(D) may be less or more than g, depending on the masses of the rod  and the insect.
;k rks d e ;k g ls cM+k gksxk] NM+ ,oa d hM+s d s d s nzO;eku ij fuHkZj d jrk gS
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16. Assume a sample of an ideal gas in a vessel. Where velocity of molecules are between 2 m/sec to
5 m/sec and velocity of molecules (v) and number of molecules (n) are related as n = 7v � v2 � 10. The most probable

velocity in sample is. Where v is measured in m/sec.
fd lh ik=k esa Hkjs gq, vkn'kZ xSl d s uewus esa xSl d s v.kvksa d k osx 2 m/sec ls 5 m/sec rd  gS ,oa v.kqvksa d s osx (v) rFkk
v.kqvksa d h la[;k (n) d s e/; fuEu lEcU/k gS n = 7v � v2 � 10 A uewus d k vf/kd re lEHko osx gksxk (;gk¡ v m/sec. esa gS)

(A) 3.5 m/sec (B) 5 m/sec (C) 10 m/sec (D) 4 m/sec

17. The ratio of translational and rotational kinetic energies at 100 K temperature is 3 : 2. Then the internal
energy of one mole gas at that temperature is[R = 8.3 J/mol-K]
100 K rki ij LFkkukUrjh; ,oa ?kw.kZu xfrt  Å t kZ d k vuqikr 3 : 2 gS rks fn;s x;s rki ij 1 eksy xSl d h vkUrfjd  Å t kZ
Kkr d jksA [R = 8.3 J/mol-K]
(A) 1175J (B) 1037.5 J (C) 2075 J (D) 4150J

18. In a horizontal spring�mass system, mass m is released after being displaced towards right by some distance at

t = 0 on a frictionless surface. The phase angle of the motion in radian when it is first time passing through the
equilibrium position is equal to :
,d {kSfrt fLiazx nzO;eku fudk; esa] nzO;eku m dks t = 0 ij] ,d ?k"kZ.k jfgr lrg ij nkfguh
vksj foLFkkfir djus ds ckn eqDr NksM+k tkrk gSA tc ;g igyh ckj lkE;koLFkk fLFkfr ls xqtj
jgk gks rc xfr dh dyk jsfM;u esa gksxh

(A) /2 (B)  (C) 3/2 (D) 0

19. A string of length �� is fixed at both ends. It is vibrating in its 3rd overtone with maximum amplitude �a�. The amplitude

at a distance 
3


 from one end is :

,d  �� yEckbZ dh jLlh nksuksa fljksa ls ca/kh gqbZ gSA ;g blds rhljs vf/kLojd esa vf/kd re vk;ke 'a� d s lkFk d EiUu dj jgh

gSA bld s ,d  fljs ls 
3


 nwjh ij vk;ke gksxk &

(A) a (B) 0 (C) 
2

a3
(D) 

2
a

20. A source of frequency 'f' is stationary and an observer starts moving towards it at t = 0 with constant small acceleration.
Then the variation of observed frequency f ' registered by the observer with time is best represented as :
'f' vkof̀r d k L=kksr fLFkj gS rFkk t = 0 ij ,d isz{kd mldh vksj NksVs vpj Roj.k ls xfr izkjEHk djrk gSA rc isz{kd }kjk le;
d s lkFk ekih xbZ izsf{kr d EiUu d h vkof̀Ùk d ks lcls lgh iznf'kZr d jrk gS

 (A) (B) (C) (D) 
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PART-II (CHEMISTRY)

Straight Objective Type

This section contains (21-35) questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of
which ONLY ONE is correct.

21. Consider the ground state of Cr atom (Z = 24). The numbers of electrons with the azimuthal quantum

numbers,  = 1 and 2 are, respectively :

(A) 16 and 5 (B) 12 and 5 (C) 16 and 4 (D) 12 and 4
Øksfe;e ijek.kq (Z = 24) dh ewy voLFkk dks lfEefyr djrs gq,  = 1 vkSj 2 ls lacaf/kr bysDVªkWuksa dh la[;k Øe'k% gksrh gSA
(A) 16 rFkk 5 (B) 12 rFkk 5 (C) 16 rFkk 4 (D) 12 rFkk 4

22. The two equilibria, AB(aq)  AA+(aq) + B(aq) and AB(aq) + B(aq)  AB2
(aq) are simultaneously maintained

in a solution with equilibrium constants, K1 and K2 respectively. The ratio of concentration of A+ to AB2
 in the

solution is :
(A) directly proportional to the concentration of B� (aq.).
(B) inversely proportional to the concentration of B� (aq.).
(C) directly proportional to the square of the concentration of  B� (aq.).
(D) inversely proportional to the square of the concentration of  B� (aq.).

,d foy;u esa nks lkE;] AB(aq)  AA+(aq) + B(aq)  rFkk AB(aq) + B(aq)  AB2
(aq)  ftuds lkE; fLFkjkad Øe'k%

K1 rFkk K2 ,d lkFk LFkkfir gSaA foy;u esa A
+ ls AB2

 dh lkUnzrkvksa dk vuqikr gksrk gS %
(A)  B� (aq.) dh lkUnzrk ds lekuqikrh gksrk gSA (B)  B� (aq.) dh lkUnzrk ds O;qRØekuqikrh gksrk gSA
(C)  B� (aq.) dh lkUnzrk ds oxZ ds lekuqikrh gksrk gSA (D)  B� (aq.) dh lkUnzrk ds oxZ ds O;qRØekuqikrh gksrk gSA

23. Consider the following statements: If the van der Waal�s parameters of two gases are given as

a (atm lit2 mol�2)b (lit mol�1)
Gas X: 6.5  0.056
Gas Y: 8.0 0.011

then (i) : VC (X) < VC (Y) (ii) : PC (X) < PC (Y) (iii) : TC (X) < TC(Y)
Select correct alternate:

(A) (i) alone (B) (i) and (ii) (C) (i), (ii) and (iii) (D) (ii) and (iii)

fuEu dFkuksa dk voyksdu dhft,] ;fn nks xSlksa ds okUMjokYl~ ekud (parameters) fuEu izdkj ls fn;s x;s gksaA
a (atm lit2 mol�2) b (lit mol�1)

xSl X: 6.5 0.056

xSl  Y: 8.0 0.011

rks  (i) : VC (X) < VC (Y) (ii) : PC (X) < PC (Y) (iii) : TC (X) < TC(Y)

lgh fodYi pqfu;s
(A) dsoy (i) (B) (i) rFkk (ii) (C) (i), (ii) rFkk (iii) (D) (ii) rFkk (iii)
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24. The molarity of the solution containing 2.8%( mass / volume) solution of KOH is : (Given atomic mass of
K = 39 ) is :
ml foy;u dh eksyjrk D;k gS] tks KOH ds 2.8% ¼nzO;eku@vk;ru½ j[krk gks \ (fn;k x;k gS K dk ijekf.o; nzO;eku = 39)
(A) 0.1 M (B) 0.5 M (C) 0.2 M (D) 1 M

25. During the disproportionation of Iodine to iodide and iodate ions, the ratio of iodate and iodide ions formed in alkaline
medium is :
vk;ksMkbM rFkk vk;ksMsV vk;u esas vk;ksMhu ds fo"kekuqikrhdj.k ds nkSjku] {kkjh; ek/;e esa cus vk;ksMsV rFkk vk;ksMkbM vk;u dk
vuqikr gS %
(A) 1 : 5 (B) 5 : 1 (C) 3 : 1 (D) 1 : 3

26. Which of the following ions is most effective in the coagulation of an arsenious sulphide solution ?
,d vklsZul lYQkbM foy;u ds LdUnu esa dkSulk vk;u lcls izHkkoh gSA
(A) K+ (B) Mg2+ (C) Al3+ (D) C

27. 1 mole of an idal gas A (C 
v,m

 = 3R) and 2 mole of an ideal gas B are 







 R

2
3

C m,v  taken in a  container and expanded

reversible and adiabatically from 1 litre to 4 litre starting from initial temperature of 320 K. E or U for the process
is :

,d ik=k esa vkn'kZ xSl A (C 
v,m

 = 3R) dk 1 mole  vkSj ,d vkn'kZ xSl  B 







 R

2
3

C m,v  dk 2 mole fy;s tkrs gSA  320K ds çkjfEHkd

rki ls 'kq: djds mÙØe.kh; vkSj :)ks"e çlkj 1 yhVj ls 4 yhVj gksrk gSA vfHkfØ;k ds fy;s E  gSA
(A) �240 R (B) �240 R (C) 480 R (D) �960 R

28. Hybridisation of Iodine atoms in Cl
3
 (in its stable form, found in solid state) and 

2
Cl

4
Br

2
 are :

(A) sp3 & sp3d2 (B) sp3d2 & sp3d3 (C) both sp3d (D) both sp3d2

Cl
3
 (bldh Bksl voLFkk esa blds LFkk;h :i esa½ rFkk 

2
Cl

4
Br

2
 esa vk;ksMhu ijek.kqvksa dk ladj.k fuEu gS %

(A) sp3 rFkk sp3d2 (B) sp3d2 rFkk sp3d3 (C)  sp3d nksuksa (D) sp3d2 nksuksa

29. Which of the following is pseudo alum ?
(A) (NH4)2SO4.Fe(SO4)3.24H2O (B) K2SO4.Al2(SO4)3.24H2O
(C) MnSO4.Al2(SO4)3.24H2O (D) None
fuEu esa ls dkSulk Nn~e ,sye~ gksrk gSa \
(A) (NH4)2SO4.Fe(SO4)3.24H2O (B) K2SO4.Al2(SO4)3.24H2O
(C) MnSO4.Al2(SO4)3.24H2O (D) buesa ls dksbZ ugha

30. The formation of the oxide ion O2� (g) requires first an exothermic and then an endothermic step as shown below

O(g) + e� = O� (g) ; 
eg

H = � 142 kJmol�1

O� (g) + e� = O2� (g) ; 
eg

H =  844 kJmol�1

This is because :
(A) O� ion will tend to resist the addition of another electron on account of similar charge.
(B) oxygen has high electron affinity.
(C) oxygen is more electronegative.
(D) O� ion has comparatively larger size than oxygen atom.
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vkWDlkbM vk;u O2� (g) ds fuekZ.k esa izFke Å "ek{ksih rFkk fQj ,d Å "ek'kks"kh in gSA ftls uhps fn[kk;k x;k gSA

O(g) + e� = O� (g) ; 
eg

H = � 142 kJmol�1

O� (g) + e� = O2� (g) ; 
eg

H =  844 kJmol�1

;g blfy, gS] D;ksafd %
(A) O� vk;u o vfrfjDr tqM+us okys bysDVªkWu ij leku vkos'k ds dkj.k fLFkj oS|qr izfrd"kZ.k gksrk gSA
(B) vkWDlhtu mPp bysDVªkWu ca/kqrk j[krk gSaA
(C) vkWDlhtu dh vf/kd fo|qr_ .krk gSaA
(D) O� vk;u] vkWDlhtu ijek.kq dh rqyuk esa cM+s vkdkj dk gksrk gSaA

31. Which of the following compound has plane of symmetry (POS) but not centre of symmetry (COS) ?

fuEu esa ls dkSulk ;kSfxd lefefr ry (POS) j[krk gS ysfdu lefefr dsUnz (COS) ugha j[krk gS \

(A)  (B)  (C)  (D) 

32. In the Newman projection for 1, 2-Dichloropropane,

X and Y can respectively be :
1, 2-MkbDyksjksizksisu ds U;weSu iz{ksi.k (Newman Projection) esa X vkSj Y Øe'k% gks ldrs gSa %
(A) Cl and vkSj H (B) Cl and vkSj CH3 (C) CH3 vkSj and Cl (D) H and vkSj CH3

33. S1 : Trans-But-2-ene has higher boiling point than cis-But-2-ene.
S2 : 1, 4-Dichlorobenzene has zero dipole moment.
S3 : Trans cyclodecene is more stable as compare to cis-cyclodecene.
S4 : Trans 1, 2-Dibromoethene is more soluble in water than cis-1, 2-Dibromoethene.
S1 : foi{k-C;wV-2-bZu dk lei{k-C;wV-2-bZu dh rqyuk esa vf/kd DoFkukad fcUnq gksrk gSA
S2 : 1, 4-MkbDyksjkscSathu dk f}/kqzo vk?kw.kZ 'kwU; gksrk gSA
S3 : foi{k lkbDyksMsdhu] lei{k lkbDyksMsdhu dh rqyuk esa vf/kd LFkk;h gSA
S4 : foi{k 1, 2-MkbZczkseks,Fkhu] lei{k-1, 2-MkbZczkseks,Fkhu dh rqyuk esa ty esa vf/kd foys; gSA
(A) T T T T (B) F T F T (C) F F F F (D) F T F F
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34. Three aromatic isomers X, Y, Z have molecular formula C
6
H

4
Br

2
. On mononitration �X� gives one, �Y� gives two and �Z�

gives three isomeric products of molecular formula C
6
H

3
Br

2
NO

2
. Identify X, Y and Z.

rhu ,sjkseSfVd leko;oh X, Y, Z ftudk vk.kfod lw=k C
6
H

4
Br

2 
gSa] dk eksuksukbVªhdj.k djokus ij ;kSfxd �X� ,d , �Y� nks rFkk �Z�

rhu leko;oh ftudk vk.kfod lw=k C
6
H

3
Br

2
NO

2 
gS] iznku djrs gSaA fuEu esa ls X, Y vkSj  Z dks igpkfu;sA

   X    Y    X

(A)

(B)

(C)

(D)

35. Compound �A� (C16H16) on ozonolysis gives only one product �B�, (C8H8O). �B� gives positive Iodoform test and

forms sodium benzoate as one of the product. Identify the structure of  'A' :
;kSfxd �A� (C

16
H

16
) dk vkstksuhvi?kVu djus ij dsoy ,d mRikn 'B'(C

8
H

8
O) izkIr gksrk gSA  �B�  /kukRed vk;ksMksQkeZ ijh{k.k nsrk

gSa rFkk lksfM;e csUtks,V dks ,d mRikn ds :i esa iznku djrk gSA fuEu esa ls ;kSfxd �A� dks igpkfu;s %

(A) Ph � CH2 � CH = CH � CH2 � Ph (B) PhCCCH
||
PhCH

3

3



(C) 

33 CHCH
||

PhCCPh  (D) PhCH�CCHPh
|
CH

2

3


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PART - III (BIOLOGY)

Straight Objective Type

This section contains (36-60) questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of
which ONLY ONE is correct.

36. Which of the following induces and promotes cell division?
(A) ABA (B) Auxin (C) cytokinin (D) Gibberellin

fuEu esa ls dkSulk jlk;u dksf'kdk foHkktu dks izsfjr djrk gS\

(A) ABA (B) vkWDlhu (C) lkbVksdkbfuu (D) ftczsfyu

37. Which of the following cell is totipotent?
(A) Meristem (B) Sieve tube (C) Cork (D) Xylem vessels

fuEu esa ls dkSulh dksf'kdk VksfViksVsUV dksf'kdk gS\

(A) foHkkT;ksrd (B) pkyuh ufydk (C) dkWdZ (D) tk;ye okfgdk;sa

38. Which of the following is the phosphorylating unit?
(A) Oxysome (B) Mesosome (C) Peroxisome (D) Mitochondria

fuEu es ls dkSu QkWLQksjkbysfVax bZdkbZ gS\

(A) vkWfDllkse (B) fetkslkse (C) ijvkWDlhlkse (D) ekbVksdkWfUMª;k

39. Number of lenses present in compound microscope is :
(A) One (B) two (C) Three (D) Four

la;qDr lw{en'khZ esa ysal dh la[;k fdruh gksrh gS\

(A) ,d (B) nks (C) rhu (D) pkj

40. Ornithine cycle removes two waste products from the blood in liver. These are:
(A) Carbon dioxide and urea (B) ammonia and urea
(C) Carbon dioxide and ammonia (D) ammonia and uric acid

vkfuZfFku pØ }kjk nks vif'k"Vksa dks :f/kj ls ;d `̀r esa gVk;k tkrk gS] og gS

(A) dkcZu&MkbZ &vkWDlkbZM o ;wfj;k (B) veksfu;k o ;wfj;k

(C) dkcZu&MkbZ&vkWDlkbZM o veksfu;k (D) veksfu;k o ;wfjd vEy

41. The number of floating ribs, in the human body is :
(A) 6 Pairs (B) 5 Pairs (C) 3 Pairs (D) 2 Pairs

ekuo 'kjhj esa ¶yksfVax ilfy;ksa dh la[;k fdruh gS\

(A) 6 tksMh+ (B) 5 tksMh+ (C) 3 tksMh+ (D) 2 tksMh+
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42. The 3rd, 6th and 11th cranial nerves are:
(A) Optic, Facial and spinal nerves (B) Occulomotor, trigeminal and  spinal
(C) Trichlear, abduscens and vagus (D) Occulomotor, abduscens and spinal.

3rd, 6th o 11oha dikyh; rfU=kdk gS&

(A) vkWfIVd] Qslh;y] o es:rfU=kdk (B) vkWD;wykseksVj] Vªkbtsfeuy] o es:rfU=kdk

(C) VªksfDy;j] ,CMwlsUl o osxl (D) vkWD;wykseksVj  ,CMwlsUl o es:rfU=kdk

43. Which of the following cells is phagocytic in nature?
(A) Mast cell (B) Podocytes (C) Macrophages (D) Fibroblast cells

fuEu esa ls dkSulh dksf'kdk,¡ QsxkslkbfVd izd f̀r dh dksf'kdk,¡ gS\

(A) ekLV dksf'kdk,¡ (B) iksMkslkbV~l (C) esØksQsXl (D) QkbczksCykLV dksf'kdk

44. What will be the direction of movement of water, when a solution - A having water potential of - 9 bars and another
solution B- 4 bars is separated by a semipermeable membrane:
(A) B to A (B) A to B (C) Both directions (D) none of these

tc foy;u A dk ty foHko & 9 ckj gS rFkk ,d nqljs foy;u B dk ty foHko 4 ckj gS] ftUgsa ,d v)ZikjXE; f>Yyh }kjk iF̀kd

fd;k x;k gS rks ty dh xfr fdl fn'kk esa gksxh\

(A) B ls A (B) A ls B (C) nksuks fn'kkvksa esa (D) buesa ls dksbZ ugha

45. In bryophytes:
(A) Both generations are independent (B) Sporophytes complete their life cycle
(C) Sporophytes depend upon gametophytes (D) sporopytes do not depend upon gametophytes

czk;ksQkbV~l esa &

(A) nksuksa larfr;k LorU=k gksrh gS (B) LiksjksQkbV~l buds thou pØ dks iw.kZ djrs gSSA

(C) LiksjksQkbV~l xSesVksQkbV ij fuHkZj gksrs gSA (D) LiksjksQkbV~l xSesVksQkbV ij fuHkZj ugha djrsA

46. Laminaria (kelp) and Fucus (rock weed) are examples of :
(A) red algae (B) brown algae (C) green algae (D) golden brown

ysfeusfj;k ¼dsYi½ ¶;wdl ¼jksd [kirokj½ fdldk mnkgj.k gSA

(A) yky 'kSoky (B) Hkwjs 'kSoky (C) gjs 'kSoky (D) lqugjh Hkwjk 'kSoky

47. When the procedure of bacterial staining is carried out, the Gram negative bacteria stains :
(A) red (B) green (C) purple (D) black

tc thok.kq dks ,d izØe }kjk vfHkjaftr fd;k tkrk gS rks xzke - ve thok.kq fdl jax ls vfHkjaftr gksrs gS\
(A) yky (B) gjk (C) cSaxuh (D) dkyk

48. Phylogenetic classification is one which is based on :
(A) habits of plants (B) utilitarian system
(C) over all similarities (D) common evolutionary descent

QkbyksftusfVd oxhZdj.k fdl ij vk/kkfjr gS\

(A) ikniks ds LoHkko ij (B) ;wfVfyVsfj;u rU=k

(C) lHkh xq.kkas esa lekurk ij (D) lkekU; mn~fodklh;
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49. �Basket Star� belongs to class :

(A) Echinoidea (B) Asteroidea (C) Crinoidea (D) Ophiuroidea

ÞckLdsV LVkjÞ fdl oxZ ls lEcfU/kr gS\

(A) bdkbuksbMh (B) ,fLVjksbMh (C) fØuksbMh+ (D) vkWfQ;wjksbM+h

50.. Which of the following have eye structure nearest to that of vertebrates?
(A) Insecta (B) Polychaeta (C) Cephalopoda (D) Crustacea

fuEu esa ls fdl oxZ ds thoksa ds us=k dh lajpuk d'ks:fd;ksa ds us=k ds leku gksrh gS\

(A) dhV (B) iksyhdhVk (C) lhQsyksiksMk+ (D) ØLVsfl;k

51.  Most important use of Pheretima posthuma is :
(A) to catch fish (B) to make dish
(C) to make saline (D) to make soil porous and fertile

QsjsfVek iksLFkwek dk lcls egRoiw.kZ :i ls mi;ksx fd;k tkrk gS\

(A) eNyh idM+us esa (B) O;atu cukus esa

(C) lsykbu cukus esa (D) eǹk dks mitkÅ  o mFkyk cukus esa

52.  Myoglobin is persent in :
(A) all muscle fibres (B) white muscle fibres only
(C) red muscle fibres only (D) both (B) and (C)

ek;ksXyksfcu fdlesa ik;k tkrk gS\

(A) lHkh is'kh; rUrqvksa esa (B) dsoy 'osr is'kh; rUrqvksa esa

(C) dsoy yky is'kh; rUrqvksa esa (D) (B) o (C)  nksuks

53. Excretion in cockroach takes place by :
(A) parotid gland (B) nephridium (C) coxal glands (D) malpighian tubules

frypês esa mRltZu fdlds }kjk gksrk gS\

(A) isjksfVM+ xzfUFk (B) usfÝafM;e (C) dkWDly xzfUFk (D) esYihf?k;u ufydk

54. The blood vessel which brings oxygenated blood from lungs towards the heart of frog is :
(A) precaval (B) post caval (C) pulmonary vein (D) pulmonary artery

es<+d esa QsQM+ks ls ân; rd vkWDlhtu;qDr :f/kj dks dkSulh :f/kj okfgdk,a ys tkrh gS\

(A) izhdsoy (B) iksLVdsoy (C) iYeksujh f'kjk (D) iYeksujh /keuh

55. Which of the following is required for erythrocyte formation ?
(A) Vitamin-K (B) Vitamin-B (C) Vitamin-D (D) Vitamin-B

12

fuEu esa ls bjhFkzkslkbV ds fuekZ.k gsrq fdldh vko';drk gksrh gS\

(A) foVkfeu-K (B) foVkfeu-B (C) foVkfeu-D (D) foVkfeu-B
12
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56. Which of the following is
,
 absent in the primary and secondary structure of stem of Pinus ?

(A) Sieve tubes (B) Mucilage duct (C) Companion cells (D) Phloem parenchyma

ikbull ds izkFkfed o f}rh;d izjksg ¼rus½ ds lajpuk esa fuEu esa ls D;k ugha ik;k tkrk&

(A) pkyuh ufydk (B) E;wlhyst ufydk (C) dkEisfu;u dksf'kdk,¡ (D) ¶yks;e isjsudkbek

57. Sucking root are present in :
(A) Tubisoire (B) Betel (C) Cuscuta (D) Orchids

pw"kd ewysa fdlesa ikbZ tkrh gS\

(A) V~;wchlksbj (B) chVy (C) dldwVk (D) vkfdZM

58. Which of the following is a saprophytic angiosperm ?
(A) Agaricus (B) Cuscuta (C) Neottia (D) Eucalyptus

fuEu esa ls dkSulk ,d lsizksQkbfVd ,Uth;ksLieZ gS\

(A) ,xsjhdl (B) dldwVk (C) uksbfVvk (D) ;wdsfyIVl

59. The American aquatic weed, which had become a trouble in India, is :
(A) Dolicus (B) Hibiscus (C) Eichhornia (D) Trapa bispinosa

,d vesjhdu tyh; [kjirokyw tks Hkkjr esa eqlhcr cuh gqbZ gS og gS&

(A) Mksyhdl (B) fgfcldl (C) bdksfuZ;k (D) Vªkik ckbLihukslk

60. Removal of seed coat in dormant seeds, by mechanical method is called :
(A) separation (B) vernalization (C) emasculation (D) scarification

;kaf=kd fof/k }kjk lq"kqIr cht dks cht pksy dks gVkus dk izØe D;k dgykrk gS\

(A) iF̀ddj.k (B) ousZykbts'ku (C) besLdwys'ku (D) LdsjhQhds'ku

PART-IV (MENTAL ABILITY)

Straight Objective Type

This section contains (61-75) questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of
which ONLY ONE is correct.

Directions (61 to 63) : Find the missing terms :

funsZ'k (61 to 63) % yqIr in Kkr dhft, %

61. 6, 20, 36, 48, 50, (?), 0
(A) 36 (B) 40 (C) 46 (D) 223

62. EIO, IOU, OUA, ?

(A) UAD (B) UAK (C) UAL (D) UAE
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63.

5

16 109 2

6

21

22 53 19

15

51

17 ? 48

13

(A) 25 (B) 129 (C) 7 (D) 49

64. If  ¼;fn½
PET = 4
LET = 3
JEY = 2
Then what is the value of XET?

rks XET dk eku D;k gksxk ?
(A) 1 (B) 5 (C) 6 (D) 8

65. How many pairs of letters are there in the word, �EXPERIENCED �which have as many letters between them in the

word as in alphabet ?

(A) One (B) There (C) Four (D) More than four

'kCn EXPERIENCED esa ;gka ,sls fdrus v{kj ;qXe gSa ftuds e/; mrus gh v{kj mifLFkr gS] ftrus dh vxsazth o.kZekyk esa muds

e/; mifLFkr gksrs gSa ?

(A) ,d (B) rhu (C) pkj (D) pkj ls vf/kd

66. The value of  1001 ÷ 11 of 13 is :

1001 ÷ 11 dk 13 dk eku gksxk \

(A) 7 (B) 91 (C) 143 (D) 169

67.  Aruna cut a cake into two halves and cuts one half into smaller pieces of equal size. Each of the small pieces is
twenty grams in weight. If she has seven pieces of the cake in all with her, how heavy was the original cake?
(A) 120 grams (B) 140 grams (C) 240 grams (D) 280 grams
v:.kk ,d dsd dks nks vk/ks Hkkxksa esa dkVrh gS rFkk iqu% ,d vk/ks Hkkx ds dqN cjkcj VqdM+s djrh gSA izR;sd NksVs VqdM+s dk otu
20 xzke gks rFkk mlds ikl dsd ds dqy lkr VqdM+s gks rks crkb;s izkjEHk esa dsd dk otu D;k Fkk \
(A) 120 xzke (B) 140 xzke (C) 240 xzke (D) 280 xzke

68. Which day can not be first day or last day of any century ending.
(A) Sunday (B) Monday (C) Tuesday (D) Friday

fdlh 'krkCnh dk izFke ;k vfUre fnu dkSulk ugha gks ldrk gSA

(A) jfookj (B) lkseokj (C) eaxyokj (D) 'kqØokj
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69. At what time between 9 and 10 will the hands of a clock be in the straight line, but not together ?

(A) 16 min. past 9 (B) 
11
4

16 min. past 9

(C) 
11
6

16  min. past 9 (D) 
11
9

16  min. past 9

9 rFkk 10 ds chp fdl le; ?kM+h dh nksuksa lqbZ;ka ,d lh/kh js[kk esa gksxh] ysfdu lkFk ugha \

(A)  9 ctdj 16 feuV (B) 9 ctdj 
11
4

16 feuV

(C) 9 ctdj 
11
6

16  feuV (D) 9 ctdj 
11
9

16   feuV

70. Pointing to a photograph of a girl, Rajan said "She has no sisters or daughters but her mother is the only daughter
of my mother." How is the girl in the photograph related with Rajan's mother ?
(A) Sister-in-law
(B) Grand daughter
(C) Daughter-in-law
(D) Cannot be determined

,d yM+dh ds Nk;kfp=k dh vkSj b'kkjk djrs gq,s jktu us dgk fd] ̂ m̂lds u rks dksbZ cfgu gS u gh dksbZ iq=kh] ijUrq mldh ek¡
esjh ek¡ dh bdyksrh iq=kh gSA** Nk;kfp=k okyh yM+dh jktu dh ek¡ ls fdl izdkj lEcfU/kr gS \
(A) uun (B) iksrh (C) cgq (D) Kkr ugha dj ldrs

71. A postman was returning to the post office which was in front of him to the North. When the post office was 100
metres away from him, he turned to the left and moved 50 metres to deliver the last letter at shantivilla. He then
moved in the same direction for 40 metres, turned to his right and moved 100 metres. How many metres was he
away from the post office ?
(A) 0 (B) 90 (C) 150 (D) 100

,d Mkfd;k vius Mkd ?kj ls ykSV jgk FkkA mlds lkeus dh rjQ mÙkj fn'kk esa Mkd ?kj gSA tc mlls Mkd ?kj 100 ehVj Fkk

rc og ck;ha rjQ eqM+rk gS vkSj vfUre i=k 'kkafrfoyk esa nsus ds fy;s 50 ehVj vkxs c<+k rc og mlh fn'kk esa 40 ehVj vkSj vkxs

c<+k rc og nk;ha vkSj eqM+dj 100 ehVj pyk vc og Mkd ?kj ls fdruh nqj Fkk ?
(A) 0 (B) 90 (C) 150 (D) 100

72. Three positions of the same dice are given below. Observe the figures carefully and tell which number will come in
place of �?�
uhps fdlh ikals dh rhu fLFkfr;ka n'kkZbZ xbZ gSA ikalks dks /;kuiwoZd ns[kdj crkb;s dh fpUg �?� ds LFkku ij dkSulh la[;k vk;sxh?

(A) 1 (B) 6 (C) 3 (D) 5
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Directions : (73 to 74) A cube of 5 cm has been painted on its surfaces in such a way that two opposite surfaces have
been painted blue and two adjacent surfaces have been painted red. Two remaining surfaces have been left
unpainted. Now the cube is cut into smaller cubes of side 1 cm each.

funsZ'k : (73 ls 74) ,d 5 cm Hkqtk okys ?ku dks bl izdkj jaxk tkrk gS fd mldh nks foijhr Qydks ij uhyk jax rFkk nks layXu

Qydks ij yky jax gksA 'ks"k nks Qydks ij dksbZ jax ugha gSA vc ?ku dks 1 cm Hkqtk okys NksVs ?kuksa esa dkVk tkrk gSA

73. How many cubes will have no side painted ?

,sls fdrus ?ku gksxsa ftudh fdlh Hkh Qyd ij jax ugha gksxk ?
(A) 48 (B) 27 (C) 45 (D) None of these

74. How many cubes will have at least red colour on its surfaces ?

,sls fdrus ?ku gksxsa ftu ij de ls de yky jax vo'; gks ?
(A) 50 (B) 48 (C) 45 (D) 46

Directions : (75) Each of the following questions consists of four figures marked 1, 2, 3 and 4. These figures form a series.
Find out the one from the answer figures that will continue the series.

funsZ'k : (75) izR;sd  iz'u esa] fp=kksa ds nks lewg gSaA iz'u vkÑfr rFkk mÙkj vkd f̀r] 1, 2, 3 rFkk 4 ls vafdr gSA mÙkj vkÑfr;ksa esa ls
ml vkd f̀r d k pquko d hft ;s tks iz'u vkÑfr esa nh xbZ vkd f̀r;ksa d h Jsa.kh dks vkxs c<+k ldsA

Problem Figures

leL;k vkd f̀r

75.

1 2 3 4

Answer Figure
mÙkj vkd f̀r

(A) (B) (C) (D)






